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Question ID:- 135
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Which one of the following, drawn in a linear scale, represents the triangle shown in the figure above?
Select the CORRECT option
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«A , Option ID :- 537,
»« B, Option ID :- 538,
» C, Option ID :- 539,
» D, Option ID :- 540,
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Question ID:- 139
The sum of all the internal angles of a hexagon in degrees is

TP yeaiu & 9t aefye Svif &1 o ot (i) # @

»360, Option ID :- 553,
» 540, Option ID :- 554,
» 720, Option ID :- 555,
» 600, Option ID :- 556,

Question ID:- 134
The standard deviation of five numbers is zero. Which of the following must be true?
g "ensl ¥ A e g g1 R Ry v d s 9@ g gk

«All the numbers are zero

it T=Ime 3= €1, Option ID :- 533,

» The median is zero

ufersT I 81, Option ID :- 534,

» If at least one number is positive, then at least one humber is negative

e FH-T-HH TP TBIT YATHD %, TG PH-T-PH Th IBAT BUTHSD %I, Option ID :- 535,

» The difference between the median and mode of these numbers is zero
3 wensl #Y fesT 9 9ga® BT 3av I 21, Option ID :- 536,

Question ID:- 144
In a field there are some cows and ducks. If the number of heads are 33 and number of legs are 84, then what would be the
ratio of the numbers of cows to ducks?

T® A # 79 TR R aud 81 9 RRY 9t Ten 33 3 ok W & e 84 B, a9 Al @Y J= 31 sul 31 W= I $urd o ghm?
« 5/6, Option ID :- 573,
» 3/8, Option ID :- 574,
« 2/5, Option ID :- 575,
» 3/5, Option ID :- 576,

Question ID:- 141

Water is pumped into a long horizontal pipe at a fixed volumetric rate. The diameter of the pipe changes along its length as
shown in the figure.
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The eed of water is
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»the same in sections S, S;and S3,

WUST Sy, S, 9 S3; W UHUAM &1, Option ID :- 561,

» lower in section S; compared to the other sections.
3T GUS! P V& TS S, § $H &1, Option ID :- 562,
» higher in section S; compared to the other sections.

3 WUST P T TS S, W 4RF 21, Option ID :- 563,

» reduces gradually from S; to S3.

S; ¥ S; a@ ¢fR-4¥ wedl 81, Option ID :- 564,
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Question ID:- 140

The wholesale price per unit of an item is Cg up to first 19 units. The unit price falls by 10% if 20 to 29 units are purchased,
and by another 10 % if 30 or more units are purchased. If 120 units are bought, the unit price paid is

ot ag & ufe 1S NP BHa, TUW 19 THIEUT dF oo ¢l A 20 A 29 THFUN B WG Pt A 1, IHIS FHT 10% T AT @ 3R 30 a7
emwsﬁaﬁaﬁawerﬁrma10°/owm%|m1zommw,mﬂwéaﬂm%

:0.89 Cq , Option ID :- 557,
» 0.97 Cg , Option ID :- 558,
» 0.91 Cg , Option ID :- 559,
» 0.81 Co , Option ID :- 560,

Question ID:- 129
Of the following which is the most precisely reported value of a speed measurement?

R 7o & R R Ry e gfta 99 § @ S gaifve Fraafs

«125 km/s
125 f&i/9, option ID :- 513,

» 12.5 x 10 km/s

12.5 x 10 f&Hl/9¥ , Option ID :- 514,
» 125.00 km/s

125.00 f&i/9, option ID :- 515,

« 1.250 x 102km/s
1.250 x 102f%H/¥, Option ID :- 516,

Question ID:- 142
If the length of the smallest side of a triangle is 5 units, and the sides are in arithmetic progression with positive integer
difference, the number of such possible triangles is

B 3 T B YT Ft TS 5 TP ¢, MR IS QOIS 3R b A1 YSITE JuUTR Ao § €, A Jurfya By #) wen
»3, Option ID :- 565,
» 4, Option ID :- 566,
» 5, Option ID :- 567,

» infinite
3, Option ID :- 568,
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Question ID:- 126
When 100 balls were equally distributed among students in a class (having strength between 10 and 60), 7 balls remained
undistributed. The number of balls that would remain if there were 125 balls to begin with is

for<it wam & faeffaY ("o W@ 10 & 60 & = ?) # S 100 e THH FU @ faika t @t Fff, 7 < Qv sfgafka & K ofs fomo & forg
TR # 125 A2 gielt, A sifafya 7 @ gt

sindeterminable.

fFuffra =S foear s |ar., option ID :- 501,
» 1, Option ID :- 502,
» 5, Option ID :- 503,
» 9, Option ID :- 504,

Question ID:- 131

States in the map below are to be coloured so that no two states having a common boundary have the same colour.

o T AR § Tl Y 39 e T € 5 Syag T are e ot 3 et § v e 3 A @
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Sea

The minimum numbers of colours needed is

T P AW ATITP HE©T 7

«3, Option ID :- 521,
» 4, Option ID :- 522,
» 5, Option ID :- 523,
» 6 , Option ID :- 524,

Question ID:- 133

A box contains four jerseys with the players’ names printed. The four players pick up a jersey each at random. The total
number of players wearing their own jersey CANNOT be

T® gl ¥ IR wRigi § R R fEenfeal & 9™ o g¢ €1 o st te o’ff ude, arefese U @ 3T adr 81 fafsal & oa wen e
U AT B R UgA T g, TEN 3wt ©

»1, Option ID :- 529,
» 2, Option ID :- 530,
» 3, Option ID :- 531,
» 4, Option ID :- 532,

Question ID:- 127

It is proposed to introduce daily trains between Chennai and New Delhi in both directions simultaneously, departing at each
station at 6.00PM. If the travel time is 36 hours, what is the minimum number of rakes (train sets) required to run the
service?

a8 R 7% el & Fia = Rzmslt & ver |19 6.00 PM WR a1 819 areht e 31 wanfaa €, afe amn sraftr 36 62 3, 39 Qa1 &l A FA &
e =uaw fore Y (39 91 We) Smavuw g

»2, Option ID :- 505,
» 3, Option ID :- 506,
» 4, Option ID :- 507,
» 6, Option ID :- 508,
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Question ID:- 130
A person takes one hour more to cover a certain distance walking at a speed of 2 km/hour compared to walking at 3
km/hour. The distance is

e Afdd Ta g gl &t 2 fF0/9 3t 1fa & 99 Fw, 3 f5if/9 @ 90 F a9 FA 3T e, 1 geT i W AqT 1 I g 7

4 km
4 f&i, option ID :- 517,

« 6 km
6 f&4, option ID :- 518,
» 8 km
8 f&1il, option ID :- 519,

« 10 km
10 f&t, option ID :- 520,

Question ID:- 143

X is running around a circular track completing one round every 40 seconds. Y running in the opposite direction on the same
circular track crosses X every 15 seconds. The time in seconds taken by Y to complete one round is

X U JdThR ¢ R SIS HY 40 Yobs H U g [T B3 38T 8| I AR ¢ W Y fAudia fa=m # dis #3 X &) vl 15 Adhs # YR oal gl
TP IaHY R B3 § Y g1 forar awg Adps # &
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»12, Option ID :- 569,
» 24, Option ID :- 570,
» 30, Option ID :- 571,
» 36, Option ID :- 572,
Question ID:- 128
What i; the angle bstween thq hour and minute hand of a clock at 3h:15m?
T3t F HeT 3R fiFe ®icl $ 1 39: 151 W fHamn wiur @2
.0°, Option ID :- 509,
« 2.5°, Option ID :- 510,
. 5%, Option ID :- 511,
« 7.5°, Option ID :- 512,
Question ID:- 145
In the given sequence of figures
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Which of the following is the next figure
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Select the CORRECT option
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«A, Option ID :- 577,
» B, Option ID :- 578,
» C, Option ID :- 579,
» D, Option ID :- 580,

Question ID:- 137
A fair cubic die is rolled 5 times and we get the face with nhumber 1 all 5 times on top. The probability of getting the same
face on the sixth trial is,

TP TR e I 3t 5 dR BT ordT ¢ 3R g 94t 5 9R, 1 fora Bae Y W fiedr 21 98 vad # St Bae @) Urd &1 3t uiikiedr @

«(1-5/6)(1/6) , Option ID :- 545,
« (1/6) , Option ID :- 546,

« (1/6)8, Option ID :- 547,

» 5/6, Option ID :- 548,

Question ID:- 136
The stacked bar chart shows the year-wise students’ participation in various games.

450

L 300 @ Cricket
OsSwimming

S 150 B athletics
S 100 B Badminton
E 50 O Tennis
50 B . =
2001 2002 2003 2004 2005
Year

Which one of the following inferences is INCORRECT?
ufaay foenfar i Qe | FEHIRT B hHdg X (LFs) IR I gardl gl
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OSwimming

]

-

=3

i~

]
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8 w0 @ Badminton
£ =0 & nnis

g E L CITennis
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= few e Ayl # / S99 TP A § ?

«In 2004, athletics was the most popular of these games.

af 2004 ¥, 39 @Wdl # § vddfeeq qaifte @A U1, Option ID :- 541,

» The year 2003 witnessed highest participation in these games.

af 2003 ¥ 39 @al § e aw FeHifiar ¢t &t 4, option ID :- 542,

» Among all the years, the popularity of Tennis was the highest in 2005.
Tt auf & §i=, 9 2005 # AT F AHEar 9aifie &, option ID :- 543,

» In 2003, more students played Badminton than Cricket and Tennis combined.

T 2003 ¥, e iR A Wem ara faefial @1 dgaa d=n $1 o § SeficT @ ara faenfiat $t g sifte R, option ID :- 544,

Question ID:- 138
If2ax 5P = 500, and a and b are integers, thena + b is

gfgd 23 x 5P = 500, MR aabEiH § d@a+bd

»5, Option ID :- 549,
» 6, Option ID :- 550,
» 7, Option ID :- 551,

. in_gleter!nipable
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feifa 8t 1 o1 9ot 8. Ontion ID :- 552,

Question ID:- 132

The correct diagrammatic representation of the relations among the categories TEAM SPORTS, BALL GAMES, HOCKEY and
KHO-KHO is

Select the CORRECT option

gm@m dfe BT, i, ok W—a) & oy & W=l &7 ufafifi s wd) oM @

A. ‘L.

D-

«A, Option ID :- 525,
» B, Option ID :- 526,
» C, Option ID :- 527,
» D, Option ID :- 528,

y

Subject : 703S1_PARTB_CSIR_SEPT22_SET1_BIL

Question ID:- 14
Which one of the following small molecule neurotransmitters is NOT synthesized from tyrosine?

Y M AP A @ B A TR § SRR T8 6 2

«Epinephrine
, Option ID :- 53,
» Dopamine

SIuTHgH, Option ID :- 54,

» Serotonin

R4, option ID :- 55,

» Norepinephrine

ARTdRWwH, Option ID :- 56,
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Question ID:- 3
Identify the ribose conformation in the nucleotide shown below.

i 3 W TgfFaiess § Usaw WU $I ugaRd|

:C2’-endo
C2’-3fd: , Option ID :- 9,

» C2'-exo0
C2'-dTdl , Option ID :- 10,

» C3’-endo
C3’-3id: , Option ID :- 11,

Offline & Online Classes for CSIR NET | GATE | CUET-PG & pathfinderacademy.in Q 9818063394
































































































































































	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11
	Page 12
	Page 13
	Page 14
	Page 15
	Page 16
	Page 17
	Page 18
	Page 19
	Page 20
	Page 21
	Page 22
	Page 23
	Page 24
	Page 25
	Page 26
	Page 27
	Page 28
	Page 29
	Page 30
	Page 31
	Page 32
	Page 33
	Page 34
	Page 35
	Page 36
	Page 37
	Page 38
	Page 39
	Page 40
	Page 41
	Page 42
	Page 43
	Page 44
	Page 45
	Page 46
	Page 47
	Page 48
	Page 49
	Page 50
	Page 51
	Page 52
	Page 53
	Page 54
	Page 55
	Page 56
	Page 57
	Page 58
	Page 59
	CSIR-NET December 2022.pdf
	Page 1

	CSIR-NET December 2022.pdf
	Page 7
	Page 8


